
MATHS

BOOKS - PATHFINDER MATHS (BENGALI ENGLISH)

TRIGONOMETRIC RATIOS OF COMPOUND ANGLES

Questionbank

1. Find the value of 

Watch Video Solution

sin 15∘

2. Prove that 

Watch Video Solution

cos2 45∘ − sin2 15∘ =
√3

4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_grYkZG2WY3cy
https://dl.doubtnut.com/l/_Hh2CM0inNFJs


3. Evaluate: 

Watch Video Solution

cos 80∘ cos 20∘ + sin 80∘ sin 20∘

4. Prove that

Watch Video Solution

= tan A
sin(A + B) + sin(A − B)

cos(A + B) + cos(A − B)

5. Prove that 

Watch Video Solution

tan 54∘ =
cos 9∘ + sin 9∘

cos 9∘ − sin 9∘

6. Evaluate:

Watch Video Solution

sin cos + cos sin
π

4

π

12
π

4

π

12

https://dl.doubtnut.com/l/_nHbzjmdxB9b3
https://dl.doubtnut.com/l/_UpXCbjBLuaWo
https://dl.doubtnut.com/l/_3uRD1Lwqjb1O
https://dl.doubtnut.com/l/_eBDNP6D67Ceb


7. 

Watch Video Solution

= ( )
2tan( + x)π

4

tan( − x)π

4

1 + tan x

1 − tan x

8. Prove that 

Watch Video Solution

sin2( + ) − sin2( − ) = sin A
π

8

A

2

π

8

A

2
1

√2

9. Find the value of 

Watch Video Solution

tan 15∘

10. Prove that 

Watch Video Solution

sin2(n + 1)A − sin2 nA = sin(2n + 1)A sin A

https://dl.doubtnut.com/l/_88PhYkJE9L7c
https://dl.doubtnut.com/l/_EsyI5E2p8ltk
https://dl.doubtnut.com/l/_YrhgB4fKkZQx
https://dl.doubtnut.com/l/_K6dMObKPZy5h


11. If tan(A+B)=x and tan(A-B)=y find the value of tan2A.

Watch Video Solution

12. If , then find the value of b.

Watch Video Solution

logb n = 2 and ogn2b = 2

13. Prove that .

Watch Video Solution

= − 1
tan 69∘ + tan 66∘

1 − tan 69∘ tan 66∘

14. If  and , Prove that 

Watch Video Solution

tan A =
5

6
tan B =

1

11
A + B =

π

.4

https://dl.doubtnut.com/l/_lz9mnIvRYRAU
https://dl.doubtnut.com/l/_jLtxhVnIEYSl
https://dl.doubtnut.com/l/_EMghL9Kkz8aE
https://dl.doubtnut.com/l/_IUSKxSyNbEro


15. Prove that

Watch Video Solution

sin2 B = sin2 A + sin2(A − B) − 2 sin A cos B sin(A − B)

16. Prove that

.

Watch Video Solution

cos2 A + cos2 B − 2 cos A cos B cos(A + B) = sin2(A + B)

17. Prove that .

Watch Video Solution

tan 8θ − tan 6θ − tan 2θ = tan 8θ tan 6θ tan 2θ

18. If tanA+tanB=a and cotA+cotB=b.Prove that 

Watch Video Solution

cot(A + B) = −
1

a

1

b

https://dl.doubtnut.com/l/_KoPVJ8ELc5Lm
https://dl.doubtnut.com/l/_vdhJmFII67OZ
https://dl.doubtnut.com/l/_2bH6uc01SLRA
https://dl.doubtnut.com/l/_bk0brTnxxX6K


19. If  then prove that 

Watch Video Solution

tan x + tan(x + ) + tan(x + ) = 3
π

3

2π

3

= 1
3 tan x − tan3 x

1 − 3 tan2 x

20.  show that 

 and  also 

.

Watch Video Solution

cos(β − γ) + cos(γ − α) + cos(α − β) = −
3

2

cos α + cos β + cos γ = 0 sin α + sin β + sin γ = 0

cos(β − γ) = cos(γ − α) = cos(α − β) = −
1

2

21. If  Prove that 

Watch Video Solution

tan(π cos θ) = cot(π sin θ) sin(θ + ) =
π

4

1

2√2

22. Let  and , then  is:

Watch Video Solution

tan α =
a

a + 1
tan β =

1

2a + 1
α + β

https://dl.doubtnut.com/l/_kMbIL2qnHngQ
https://dl.doubtnut.com/l/_WxqdpcI0pAnJ
https://dl.doubtnut.com/l/_crPPPSK0NECh
https://dl.doubtnut.com/l/_5XWXyCzWHU3m


Watch Video Solution

23. If  lies in the 1st quadrant and  then prove that 

.

Watch Video Solution

θ cos θ =
8

17

cos( + θ) + cos( − θ) + cos( − θ) = ( + ) ⋅
π

6

π

4

2π

3

√3 − 1
2

1

√2

23

17

24. If  are the solutions of the equation 


 then show that .

Watch Video Solution

α, β

a tan θ + b sec θ = c tan(α + β) =
2ac

a2 − c2

25. Prove that .

Watch Video Solution

tan 70∘ = 2tan 50∘ + tan 20∘

https://dl.doubtnut.com/l/_5XWXyCzWHU3m
https://dl.doubtnut.com/l/_DXuk7FCW6Z6q
https://dl.doubtnut.com/l/_JReolhD8wtS7
https://dl.doubtnut.com/l/_hu2VZ4ZGuIBc

